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= —3csc(3x) cot(3x)
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What 1s the derivative of
y =5c0s(X) —sec(2x) ?




y'=-5sIn(x) —2sec(2x) tan(2x)

Brohlginy



sm(t)

Aparticle ilsat  g(t) =

for any time, t>0 seconds.
What is its velocity at
t=n/2? (NO CALCULATOR)
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—4xsin(4x) —2cos(4x)
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If y=tan(3x)
find the equation of the normal

line to this curve at the point
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50(10x + 4)°
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125sin” (4t) cos(4t)
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Given the curve:
= (4x—3)°(x+2)

Find the
equation of the line
tangentat x = 1.
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y—3=061(x-1)
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y =Sin~"(5x)
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y = (arctan x)*
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Find the derivative of:

y =cot™ (g) —cot™(x)
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25+ X° 1+ X°

Brohlginy



vy =In(t® +4) 4—1tan1(%)

2

as much as possible.
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NG +4y =25




Brohlginy



dy =7 when
dx

3X° + Y’
Cos(Y) =




ay  —bX
dx 2y+sin(y)
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Hint: Cross Multiply, then
Take the derivative
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8X — 20y

2y + 45y° + 20X
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When

5x*° +10y®'® =15

Find the slope of the
Tangent line at x=1.
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—2e“*sin(e”)
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y _ Xze(5x) B
IN(2X +1)




5x°e®™ + 2xe®™ —
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dy 2Inx(x™)
aX X
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o'

(1t’s a constant)
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1
cos(5x° + 3x)

ay _,
dx




sin(5x” +3x)(10x + 3)
cos’(5x* + 3x)
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y =Sin~"(cos X)
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y =X+t
an(x) —e**




y'=2X+sec” x —2e*

y'(0)=-1
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A particle is following the
Path of

* 10y +4y° =

Find its velocity at (3,1)
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Type <ctrl><home> to return to 1%t slide



